HD Skid Plate For Deegan 38
Front Bumper(J108786)
Jeep Wrangler JK (2007-2017)

Tools Required:

Basic Hand Tools

Contents:

(1) - HD Skid Plate

) - M8 x 1.25 40mm Hex Head Bolts

) - M8 x 1.25 25mm Button Head Screws
1)- 8mm Lock washers
8)- 8mm Flat Washers
1)- M8 Hex Nuts

) - 8mm Large Washers
) -

(2
(¢
(
(
(
(
(1) - Allen Wrench

—_ N a

O0OO0OO0OO0O000O0

/

Identify the skid plate mounting locations as shown
above.

Install the skid plate to the bumper using the
supplied (9) M8 x 1.25 x 25mm button head bolts,
nuts, and washers. **Note: Long extension may
be required for inner nuts.

J108779

O

Install the skid plate to the chassis using the
supplied (2) M8 x 1.25 x 40mm hex head bolts,
lock washers, large washers, and nuts.



